o statistics below provide a summary of the distribution of ]

wol 200y

. 1eights, in inches, for a simple randoim
samp oung children.

Mean: 46 inches

Median: 45inches. . -
Standard Deviatiort: 3 inches
Tirst Quartile: 43 inches

Third Quartile: 48 inches

About 100 children in the sample have heights that are

(A) less than 43 inches

(B) less than 48 inches

(C) between 43 and 48 mnches
(D) between 40 and 32 inches
(E) mors thaa 46 inches

. The stemplot below shows the yearly earnings per share of stock for twe different companies over a
sixieen-year period.

(Y\ﬁt'k - w ‘Cl(p
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473 49,47,44,00 | 2 | 09,2729 R
-{2® 73,27,05,02 | 3 - ozggr
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Which of the following statements is true? Zy

(A) The median of the earnings of Company A is less than the rnedlan of the earnings of the Company B
(B) The range of the earnings of Company A is less than the range of the earnings of Company B.

(C) The third quartile of Company A is smaller than the third quartile of Company B.

(D) The mean of the earnings of Company A is greater than the mean of the earnings of Company B.
—————-(E}-The interquartile range- of—Company A is twice-the interquartile ran geof Company B—

15. The histograms bdow represent the distribution of five different data sets, each containing 28

integers, from 1 through 7, inclusive. The horizontal and vertical scales are the same for all graphs.
Which graph represents the data set with the largest standard deviation.

(A) ’T ® (©) least spread
TR B echuse
— conw symmeme
. st.devabw! and avound
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Ine hundred people were interviewed and classified according to their attitude toward small cary
\ s Wil % -

vlu: ‘1 :h:;t' }lwlereonaliw type. The results are shown in the table below.

anc A L

Personality Type
Uvpe A ~ TypeR Total
| Auitude Positive | 25 12 37 o
{ Toward | Neuttal | 1N - Y ] 200
Qoall Cans | Negative 24 19 | 43
| Total o0 40 | 100

Which of the following is true?

(A) Of the three attitude groups, the group with the negative attitude has the highest proportion of
type A personality types. .0¥ VS .SS vs .5k
(B) Of the three attitude groups, the group with the neutral attitude has the highest proportion of
type B personality types. .32 vs 4S5 vs 4y
(C) For each personality type, more than half of the 100 respondents have a neutral attitude toward
small cars.
(D) The proportion that has a positive attitude toward small cars is higher among people withatype B, 2,
personality type than amaong people with a type A personality type.
(E) More than half of the 100 respondents have a type A personality type and a positive attitude toward
small cars. o

—

24, The histogram below displays the times, in minutes, needed for cach chimpanzee in a sample of 26
to camplete a simple navigational task. {
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It was determined that the largest observation, 93, is an outlier since O3+ 1.5(0s - 0)) = 87.125.
Which of the following boxplots could represent the information in the histogram?

Xt kd 1 i L 3 4 .4 L]

0 20 40 60 80 100 0204060 80 100
- Time (in minutes) ' Time (in minutes)
M< A0 |
D)
. Loy s ] . 8 e by— L]

0 20 40 60 80 100
Time (in minutes)

0 20 40 60 80 100
Time (in minutes)

- W20

?(L {

0 20 40 60 80 100
Time (in minutes)

1 (s 3 4




L——-fd’/o—( 5"

Fasle | |  J———1a
e A
=/ R s

\

0 20 30 40 s0 6 70 S0 90
l’»;ilal Leagth {mun}

29. A botanist is studying the petal lengths, measured in millimeters, of two species of lilies. The
boxplots sbove illustrate the distribution of petal lengths from two samples of equal size, one from
species A and the other from species B. Based on these boxplots, which of the following is a correct
conclusion gbout the data collected in this study?

Y The interquartile ranges are the same for both samples. A TQRXD0 ©

BY The range for species B is greater than the range for species A. 5ot nave e uall KC(:\QQ,
There ave more petal lengths that are greater than 70 mm for species A than there are for species B. g/
VaD &4 (o

Ness ™ e 14 3 B L e i e o S
{)~Tlicre are more petal Tengths that arc greater than 40 1 for specics B than there are {or species APATS

{E) There are more petal lengths that are Jess than 30 mm for species B than therc are for species A, 1 (oS dan ©w%s
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14. The boxplots shown above summarize two data sets, ] and TI. Based on the boxplots, which of the following
statemnents about these two data sets CANNOT be justified? : \
M The range of data set I is equal to the range of data set IL. \1€5 < G)Oth npve (00-20 =d0- .
@4 The interquartile range of data set I is equal to the interquartile range of data setll. Y€ S Botn € O.,UJJ-—Q., us - 30

\@) The median of data set [ is less than the median of data set II. \(eS A=3S R=N4S 50-35=1S

~———————— (D) Data set I and data set I have the same. number of data points. Nl AN - 17{ U Coand _Qeic.meC_b [\ V) nn;»i
) " (BY_ About 75% of the values i data set 11 are greater than or equal to about 50% of the values-in data set -— — —OCe{Nanin>

VES, T -, (35)ancl aove 15 15% oF dale
T =M (53) and obove (S SO7. oF Aol

><A small town employs 34 sﬁhriod, nonunion employees. Each employee receives an annual salary increase of

between $500 and $2,000 based on a performance review by the mayor’s staff. Some employees are members
of the mayor’s political party, and the rest are not.

Students at the local high school form two lists, A and B, one for the raises granted to employees who are in the
mayor’s party, and the other for raises granted to employees who are not. They want to display a graph

(or graphs) of the salary increases in the student newspaper that readers can use to judge whether the two
groups of employees have been treated in a reasonably equitable manner.

Which of the following displays is least likely to be useful to readers for this purpose?
(A) Backr—to-bac‘};;te‘rnplbls of A and B

(B) Scatterplot of B versus A

(© Parallel boxplots of A and B

(D) Histograms of A and B that are drawn to the same scale

&) Dotplots of A and B that are drawn to the same scale
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27. The figure above shows a curmulative relative frequency histogram of 40 scores on a test given in an AP Statis-
tics class. Which of the foliowing conclusicns can be made from the graph?

(A) There is greater variability in the lower 20 test scores than in the higher 20 test scores.

@{The median test score is less than 50. 10, are |y s hiam 50

C@_ Sixty percent of the students had test scores above 80. 320w

@ if the passing score is 70, most students did nme test. QN LY 9\50/0 fasled

C;b,K The horizontal nature of the graph for test scores of 60 and below indicates that those scores occurrad most

frequently. Do€L NOT €VEAS MANL Sepse

L S
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10. The boxplots above summarize two data sets, A and B. Which of the following must be true?:

O

- 1. Set A contains more data than Set B. False. We can ok Be sure oOF
11 The box of Set A contains more data than the box of Set B o é.n o511 Ao NS rrnl all.

Il The data in Set A have a larger range than the data in Set B.

(W a boX plot.

(A) I only

———— By Ionly——————- -

- ©ladloenty — e T =

(D) I and ITT only
(E) I 11, and 111

21. A company wanted to determine the health care costs of its employees. A sample of 25 employees
were interviewed and their medical expenses for the previous year were determined. Later the company
discovered that the highest medical expense in the sample was mistakenly recorded as 0 times the
actual amount. However, after correcting the error, the corrected amount was still greater than or equal
to any other medical expense in the sample. Which of the following sample statistics must have
femained the same after the correction was made?

(A) Mean o1 hon ONLY MAX ChgnGessin
© Modion —p The =2 ¢ Same £ O’F'da\e?. S}‘)il\
C) Mode

(D) Ra(?lgc ‘ Same midd @

(E) Variance ,

O



